44.2 Mathematics Alternative B Paper 2 (122/2)

No | Marking scheme marks | comments
1. B1 Rounding off
2440x0.2562 _ 2440x0.2560x10000 Ml
0.0512  0.0512x10000 For multiplying by 10000
=12200 Al
3
2. |rE2
ar’ =1600
6" month; ax2®=1600= a =50 B1 For ‘a’
10" month; 50x2° =50x512 M1
=Ksh 25 600 Al
3
a Charges per km = 8?)8x0104 Ml
=Ksh 2.50
Charges for 150km for 98 = 2.5x150x9 Ml
=Ksh 3375 Al
3
4. | (a) Y values to fill: 1.75; 3.75; 4; 3; 0 B2
) Arca=0.5 {(ﬂ;ﬂ)+(3+3_75 +4+3.75+3) }
=0.5(1.75+3+3.75+4+3.75+3) Ml
=9.625 sq units
Al
4
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x(x~10)=2000

x*=10x-2000=0 M1 For equation
(x+40)(x-50)=0 M1 For factorizing
x=-40 or x=50 Al For solution
The mass of 35 bags = 35 x(50 -10)kg Bl For total mass
= 1400 kg 4
=0, [N
X7
-8x=-10y Ml
10
3 y
o,
4 Al
2
A
B1 For A ABC
BI For £ bisectors
B ] I'c Bl For circle
Radius = 1.2cm + 0.1 B1
4

326




8. | Difference in angle = 15 + 30 = 45° M1
Difference in time = 458 3hrs Ml
Time at y = 3.30 — 3hrs
=00.30
= 12.302.m. al

3

9. (a) PR2=36+16—-2x6 x 4 x cos40 M1

PR = /15.23
=3.9cm al
sin40 sin ZQRP
b -
®) 3.9 6 Ml
sin ZORP = 6xsin40
3.9
=0.9889
ZORP =814
=180-81.4 AT
=98.6°
4
10. | at x=1,y=4
Inst. Rate of change
_10-4
=1 ALl
"
3
=2
Al
2
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1

11. | Principle
=6400x% LY X 1 M1
8 2
=40000
Mwau’s Interest = 40000xix 3 Ml
100
=Ksh 7200
Al
3
12. | Tax=11180x0.1+10534 (0.15+0.20+0.25)+77218 x 0.30 Mi1
=Ksh 30 603.80
Monthly Income Tax = 30603.80 — 1280 Ml
=Ksh 29 323.80 Al
Monthly Net Salary = 120 000 — 29323.80
= Ksh 90 676.20 Bl
13. (a)
Classes Frequency
B1 For classes
8—-12 4
13-17 3
B
18-22 5 1 For frequency
23-27 4
28 -32 4
(b) Class size =5 Bl
3
14. )a b 224) (2-4-5 Ml
@le dfl2as)\ 2 2 4
2a+2b=-2 1 a=0, 2c+2d=2, c=-1
2a+4b=-4 ] b=-1, 2c+4d=2 d=0 M1
01
T =
(—1 0) Al
3
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15. | P(O,A) or P(A,0) =
8 6 6 8 Ml
—X—t—X—
14713 14" 13 M1
_a8
91 Al
3
16. 5 2 3
b-a=| |-| _|=
2 5 -3 M1
Ib—a|=f{9+9)
=18
=42 Al
2
174
(a) 8x24 ~19.2days Ml
10 Al
(b) Workers for 16 days = i =12 workers Ml
16
Al
No. of workers needed = 12 — 8 = 4 workers B1
80640
(c) P hour = =Ksh 60 M1
Ay per hout 8x24x7 ®
Al
24 10 14
Fraction left after 10 days= ———=—
(d) raction left after ays 1 24 24 Bl
Time to be taken by 5 workers
| 8><24XE
5 24 Ml
= 22.4 days Al
10
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18.

(2)

(b)

(i) £BDC=45°

i) ZADE = #ABD = 180-45

=67.5°

£ZBCD =67.5-45

(3 =22.5°

(i) LetBC=>*
x(x+5)=(9.2)°

X +5x-84.64=0

. ( —Si\/363.56j

2
x=7.0

(i) Using AABD
BD? = 5% +5% —2x5x5 cos 45
= 16.64
BD =3.8cm

B1

M1

Al

B1

M1

M1

M1
Al

M1

Al

10

or equivalent

or equivalent
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19.

(@)

X 0[30 [60[90]120 [150 [ 180 | 210 | 240 | 270 | 300 | 330 | 360
Cosx | |09 09 [ -1 0.5 0.5

Sinx | |-05 -1]-09 0.9 0.5

(b

?]v

(c) (1) cos x+sinx=0 x=135°0r x=315°

(ii) At cos x =-sin x; y=0.75 £0.01
ory=-0.7510.01

B2

S1
P1

P1

Cl
Cl

Bl
B1

B1

10

B1 for
At least 5
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(2)

(b)

(©)

e N T

Change in M= ————
9 13312 43 r

=0.249x100%

= 24.9% decrease

B1

Ml

Al

B1

M1

M1

Al

M1

M1

Al

10

or equivalent

332




21

@ @) 350000x8—1500000x100%
1500000

=86.7%

(ii)
2
1sooooox(1+L) = 2800000
100

EoR 6

r_.

——=0.366
100
r=36.6%
() (@)
(1)
1129080 = P| 1-—
100
= P(0.97)’
p— 1129080
(0.97)

Original value = 1 200 000

1200000-1129080

(i) % decrease =
1200000

70920

= x100%

1200000
=5.91%

M1

Al

M1

M1

Al

M1

M1

Al

M1

Al

10
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22

(a) Modal Class = 41-50 B1
(b)
classes X f fx c.f
11-20 | 155 3 46.5 3 M1
21-30 |255 5 127.5 8
31-40 |35.5 8 284 16 M1
41-50 | 455 18 819 34
51-60 |55.5 10 555 44
61-70 65.5 6 393 50
D K 2225 Ml
Mean= 50 350
ean= 50 50 Al
=44.5
©
T T
il e i iisEiiEiin e
ol .: 1:: 41 ’,t. _,;,,l
i — A
i 204 51
34 ‘ _," m : ,,jﬂ, W ‘ = Pl
j iy, T | o
TEAE i | BI
A ? -
E s ‘5 T3bis T ST S0 T oS /“5 ] 10
TR S s 1 £ B B T
Median =43 = 0.5

for
mid-
value

for fx

cf
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23.
(a)

(b))

(ii)

(iii)

(@) Tree diagram

9

p(3,3)=%x%=_

49

P(B,B)+P(R,R)=%x%+§xi

oFPo, 16 25
4949 49

P(B,R)+P(R,B)=

~Nis

7

~Jw

~NH

B1

B1

Ml
Al

M1
M1
Al

M1

M1
Al

10
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24.

(a) DetA=25-21=4

GG

5 3
_| 4 4
75
4 4
. 5x+3y =110
® @) B
Tx+5y =170
(ii)
5 -3 5 -3
4 4|5 3)x)_|a 4|10
-7 5 \7 s\y) |-7 5 170
4 4 4 4

3 -3
x) | 4 4 |(110
y =7 5 [\170
4 7

x=10 and y=20

(c) Kantai paid =30 x 10 +25 x 20
=Ksh 800

B1

Ml

Al

B1
B1

M1

M1

Al

Ml
Al

10
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